Best model for HELP J142920.311+333415.767 at z = 0.271 x?=4.44
OPTx2=2.71 IRx?=16.16 threshold (OPT IR)=10.17 [um]

102 3 : Stellar attenuated
i S Stellar unattenuated

] —— Dust emission
101 3 . [F[] —— AGN emission
. = Model spectrum
0 1 ® Model fluxes
10 E M oObserved fluxes
; . E
= 1071 -
S
é 1072 5
w ]
1073 E
1074 5
X _5:
q__-_10 1 E
= ] == (Obs-Mod)/Obs
3 ]
° ]
o 0+---FNAIH1-**FtF--p—------f--——————
o ]
) ]
2 ]
© -1 -t r————————— 1 CIGALE
& 100 10! 102 103 104 A

Observed wavelength [um]



